1. System testing feedback

(® System Testing#6 - Remove Alarm Mode & 31

#16 opened 4 days ago by minjyo

(© System Testing#5 - Check Beep o (u

#15 opened 4 days ago by minjyo
(© System Testing#4 - Set Alarm adh (
#14 opened 4 days ago by minjyo

(® System Testing#3 - Set Alarm A 1

#13 opened 4 days ago by minjyo

System Testing#6 - Remove Alarm Mode #16
minjyo opened this issue 4 days ago - 1 comment

* minjyo commented 4 days ago Owner (2) -+
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() ‘ minjyo added the m label 4 days ago

A & minjyo assigned minjyo and jihyun9623 4 days ago

1hk-star commented 22 hours ago - edited - Collaborator  (2) -+
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System Testing#5 - Check Beep #15
minjyo opened this issue 4 days ago - 1 comment

‘ minjyo commented 4 days ago - edited ~ Owner (2 ---
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3 ‘ minjyo added the m label 4 days ago

A ‘ minjyo assigned minjyo and icarus1513 4 days ago

Vd ‘ minjyo changed the title SystemTesting#5—TFurn-off Beep System Testing#5 -

Check Beep 4 days ago

Thk-star commented 22 hours ago Collaborator () »=+
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System Testing#4 - Set Alarm #14
minjyo opened this issue 4 days ago - 1 comment

& minjyo commented 4 days ago Owner
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O ‘ minjyo added the m label 4 days ago

A ‘ minjyo assigned minjyo and dasd412 4 days ago
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Thk-star commented 22 hours ago + edited -~ Collaborator
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System Testing#3 - Set Alarm #13
minjyo opened this issue 4 days ago - 1 comment

é minjyo commented 4 days ago Owner (&) ---
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A ‘ minjyo assigned minjyo and 1hk-star 4 days ago

o ‘ minjyo added the m label 4 days ago

Y & minjyo changed the title SystemTesting#3—Reset-Alarm System Testing#3 - Set

Alarm 4 days ago

Thk-star commented 22 hours ago Collaborator| (&) =+
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2. Static analysis feedback



(O Static Anaylsis#7 - Variable 'X' must be private and have

accessor methods
enhancement

#12 opened 4 days ago by minjyo

(© Static Analysis#6 - Assignment of parameter 'X' is not
allowed
enhancement

#11 opened 4 days ago by minjyo

(@© Static Analysis#5 - Empty catch block

enhancement

#10 opened 4 days ago by minjyo

(O static Analysis#4 - Avoid if (x != y) A; else B;
enhancement

#9 opened 4 days ago by minjyo

(© Static Analysis#3 - Expression can be simplified

enhancement

#8 opened 4 days ago by minjyo

(® Static Analysis#2 - Cyclomatic Complexity is N

enhancement

#7 opened 4 days ago by minjyo

(O Static Anaylsis#1 - Unused import

enhancement

#6 opened 4 days ago by minjyo

Static Analysis#1 : ot A= importE AFA|
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minjyo commented 4 days ago - edited by dasd412 -

Resolution Method: Unused import H#H

Controller/Watch,java - line 10

import java.util.Iterator;

Unused import - java.util.lterator. Why Is this an issus?
@ Code Smell= i Info= ) Open = Not assigned = 2min effert Comment

Mode/Alarm.java - line 3

import Type.dday data;

Unused import - Type.dday_data. Why is this an issus?
& Code Smell> @ Infov O Open v Not assigned » 2min effort Commant

Mode/Buzzer.java - line 10

import javax.swing.JButton;

Unused import - javax.swing.JButton. \Why is this an issue?
@ Code Smell ¥ @ Info~ O Open = Not assigned v 2min effort Comment

Mode/Functionactivator.java - line 3

import java.util.Calendar;

Unused import - java.util.Calendar. \Why is this an issue?
& Coda Smell» @ Infor O Open » Not assigned = 2min effort Comment
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dasd412 commented 2 days ago Collaborator | () »e»
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Resolution Method: if- else if - else 2 E0]7] (ex switchE AHE)

Controller/Watch.java - line 191 ~ pressButton()

Cyclomatic Complexity is 18 (max allowed is 10). Why is
@& Code Smell »+ @ Major *+ (O Open » Not assignad = 3h

Controller/Watch.java - line 312 ~ display()

private void display(){

Cyclomatic Complexity is 21 (max allowed is 10). Why
@ Code Smeli~ @ Major ~ O Open ~ Not assigned = 3

Mode/Dday.java - line 189 ~ plusDay()

... private void plusDay(){

Cyclomatic Complexity is 25 (max allowed is 10). |
& Code Smell * & Major » (O Open + Mot assigned

Mode/TimekKeep,java - line 179 ~ plusTime_time()
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Cyclomatic Complexity is 27 (max allowed is 10). Wt
& Code Smell + @ Major = (O Open~ Mot assigned =
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dasd412 commented 2 days ago Collaborator | () ===
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dasd412 commented 2 days ago Collaboratar, (&) »--
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dasd412 commented 2 days ago Collaborator| (&) +++
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pressButton(JButton button){

.work(button)
.get_flag() == 1) {
display()
.get_flag() == 2) {
= watch_Type.FUN .ordinal();
display()

.work(button):
display()

.work(button):

display()

.work(button)

display()







plusDay(){
) {

month = .get_cal().get(Calendar.
.get_cal().set(Calendar. (month+1)3

date = 1 .get_cal().get(Calendar.
month2 = .get_cal().get(Calendar.
year2 = .get_cal().get(Calendar. )
(month2 == 1 || month2 == || month2 == || month2 |l month2 == 11

date = (date % 31) +
(month2 == |l month2 == || month2 == || month2 ==

date = (date % 30) +
(month2 == 2) {
(year2 % = |1 (year2 % && year2 % && year2 %

date = (date %

(year2 % && year2 %

date = (date %

.get_cal().set(Calendar.

plusTime_time(){

) 4

month = i .get(Calendar.
df = .get(Calendar.
.set(Calendar. )
.set(Calendar. (month+1)%12)
max = .getActualMaximum(Calendar.
(dt > max){

.set(Calendar.

.set(Calendar.

date = .get(Calendar.
month2 = 1 t .get(Calendar.
year2 .get(Calendar.
(month2 |1 month2 == || month2 || month2 == |1 month2 == |1 month2 == || month2 ==

date = (date %

f (month2 | month2 == || month2 == || month2 ==

date = (date %
(month2 2
(year2 % | (year2 % && year2 %




Static Analysis#3 - Expression
can be simplified

Resolution Method: if 20| M true, false £ H|#
Controller/Watch.java - line 506

- Lf{textlll J.s'-.h.s:;ble{} == true) {

Expression can be simplified. Why is this an issue?
@ Code Smell *+ @ Major * (O Open v Not assigned * 10min effc

Controller/Watch.java - line 513

J.f“.‘-. = cur_num) && text[i].isVisible() == false) {

B N A T P ey i by e A N P

Expression can be simplified. \Why is this an issue?
@ Code Smell + @ Major * (O Open v Not assigned + 10min effort Comment

Controller/Watch.java - line 522

for(int i =0; i < text.length; i ++) {
if(text[i]l.isVisible() == false) {

i T L e ek ]

Expression can be simplified. Why is this an issue?
@ Code Smell + @ Major v O Open ~ Not assigned ~ 10min el




Mode/FunctionActivator.java - line 55

1% L LR e = WFp R B L )

if{active function[i] == true) {

Expression can be simplified. Why is this an issue?
@ Code Smell + @ Major + O Open v Not assigned » 10min ef

Mode/FunctionActivator.java - line 86

for (int i = 0; i < active_function.length; i++) {
if(active_function[i] == true) {

Expression can be simplified. \Why is this an issue?
& Code Smell v @ Major + O Open v Not assigned v 10min effort Comm

Mode/FunctionActivator.java - line 100

active_count = 9;
for (int i = @; i < active_function.length; i++) {
if(active_function[i] == true) {

Expression can be simplified. Why is this an issue?
@ Code Smell + @ Major + O Open v Not assigned v 10min effort Comment




Mode/FunctionActivator.java - line 110

modeQ.clear();
for (int i = @; i < active_function.length; i++) {

Expression can be simplified. Why is this an issue?
@ Code Smell * @ Major *+ O Open > Not assigned * 10min effort Cor

Mode/StopWatch.java - line 38

if(isOn==false) {

e

Expression can be simplified. Why is this an i
& Code Smell *+ @ Major + O Open~ Nota

Mode/StopWatch.java - line 99
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Expression can be simplified. Why is this ¢
@ Code Smell* @ Major + O Open~ No

Mode/StopWatch.java - line 117

i 09 9 e o e e P P

Expression can be simplified. Why is this an issue?
& Code Smell * @ Major ¥ O Open > Not assigned + -
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dasd412 commented 2 days ago Collaborator (&) =+-
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dasd412 commented 2 days ago Collaborator | (&) ==+
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1 = 1 =

|I 1 == Ccur.num ":I _[

[i].setVisible(fa

[i].setVisible(

((1i != cur_num) && ! [1].isVisible())

[1].setVisible(

visible_all() {
s @
[i].isVisible()) {
[i].setVisible(t
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Static Analysis#4 - Avoid if (x I=
y) A; else B;




Resolution Method - if (x==y) B; else A; #2& 7

Mode/Alarm.java - line 86 ~ showAlarm()

i public veoid showAlarm(){
I o if(talarm.isEmpty())
s _alarm_time = alarmQ.pol
else{

L i P

alarm_time = null;

I N

T

Avoid if (x !=y) ..; else ..; Why is this an issu
@ Code Smell+ @ Major v (O Open~ No

Mode/Alarm.java - line 103 ~ cmpAlarm()
public int cmpAlarm(Calendar cal) {

Calendar tmp;

int h2 = cal.get(Calendar.HOUR_OF_DAY);
int m2 = cal.get(Calendar.MINUTE);

int s2 = cal.get(Calendar.SECOND);
if(alarm_time != null){

et o o b

e tmp = (Calendar) alarm_time.clone(}
o int hl = tmp.get(Calendar.HOUR_OF D
e ANt ML = tmp. get(Calendar. MINUTE);

- __int sl = tmp.get(Calendar.SECOND);
if(hl == h2 & ml == m2 && s1 == s2

e return 1;
e}
else{
| returne;
4

B

Avoid if (x 1= y) ..; else ..; Why is this an issue?
@ Code Smell *+ @ Major * O Open * Not assigned + 1(




Mode/Alarm.java - line 213 ~ deleteAlarm()

private boolean deleteAlarm(){
if(alarm_time != null) {
if (lalarmQ.isEmpty())
alarm_time = alarmQ.poll()
else {
alarm_time = null;

Avoid if (x I=y) ..; else ..; Why is this an issue?
@ Code Smell + @ Major * (O Open ¥ Not assignec

Mode/Buzzer java - line 54 ~ subTimeBuzzer()

public void subTimeBuzzer() {
if(leftTime != @)

leftTime -=1;

else

o A e ot

Avoid if (x !=y) ..; else ..; Why is this an issue?
@ Code Smell + @ Major + O Open ~ Not ass




Mode/Dday.java - line 113 ~ showDday()

public void showDday(){ // copy dd:
o Af(!ddayQ.isEmpty())
... fturrent_page = ddayQ.poll()

elsg

P e 0 i

i i ¥

Avoid if (x I=y) ..; else ..; Why is this an issue?
@ Code Smell* @ Major ¥ O Open ~ Not ass

Mode/Dday.java - line 128 ~ deleteDday()

private void deleteDday(){
if(current_page != null) {
e Af(!ddayQ. isEmpty())
current_page = ddayQ.po
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Avoid if (x !=y) ..; else ..; Why is this an issue?
@ Code Smell + @ Major + O Open = Not assi
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tmp = (Cale
hl = tmp.get(Calendar.
ml = tmp.get(Calendar.
s1 tmp.get(Calendar.

(hl1 == h2 && ml == m2

SUbTim%BUZEEP{}
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oF
.isEmpty())

deleteDday(){

.isEmpty())

.poll()

Static Analysis#5 - Empty catch
block



minjyo commented 4 days ago « edited by dasd412 -

Resolution Method - ¥l catch 25 # 27|
Mode/Buzzerjava - line 51

public void onBuzzer({int type) {
buzzer_flag =type;
leftTime = 15;
try {
soundBuzzer();
} catch(Exception e) { }

Empty catch block. Why is this an lssue?
& Code Smell » @ Major (O Open » Mot assig
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dasd412 commented 2 days ago
System.err.print} 2=
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onBuzzer(

| Fae

.isActive(

.stop()

soundBuzzer();

h(Exception e) {

tem. .println(

I

(=1}

Owner

[&]

arator

@ o




Static Analysis#6 - Assignment
of parameter 'X' is not allowed

minjyo commented 4 days ago + edited by dasd412 - Owner () «--
Resolution Method - parameterE EHE W, 0|2 2R BEHE
Mode/Stopwatchjava - line 132

public long calculateTime(long time,Calendar cal) {
cal=Calendar.getInstance();

Assignment of parameter 'cal' is not allowed. Why is this an issue?
a Code Smell = & Major = (O Open = Mot assigned = 10min effort C

Mode/Stopwatchjava - line 137
time={hour+360@+min+6@+sec);

Assignment of parameter 'time’' is not allowed. W

g Code Smell ~ £ Major = () Open = Mot assigre
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dasd412 commented 2 days ago Collaborator| (&) --

1.calculateTime()ZF 57| F 0|2 calendar.getinstance() ZE0t= 2
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2.return time ™A return (hour3600+minG0+sec): 22 S=H3L1 time 4F
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startStopWatch(){

=Calendar.getInstancel()

=calculateTime(




calculateTime( Calendar

hour=cal.get(Calendar.

min=cal.get(Calendar.

sec=cal.get(Calendar.

(hour= +minx60+sec)

Static Anaylsis#7 - Variable 'X'
must be private and have
accessor methods

Resolution Method - 155 private 2 2 BB 0} getter/setter =7}

Mode/TimeKeep.java

Variable 'cusorQ' must be private and have accessor methods.
Why is this an issue?

@ Code Smell + @ Major + (O Open » Not assigned * 10min effort Comr
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Queuve<Integer: w LinkedList

getCursor()

3. Review



t=Ol A0{M SQAT ME2=

{StCHE L] SQARL o|AtASol {0{M A% ot &LICH 2|1 MOizZ E

Xto
=1 =

0]

Zt
=

ol

ol

04 of A& LICE.

Ol & Elo{M BFRAB R &LICH CHEH SQASR

EHIAE 70|

|.

—

=3

H

o

XFAd
&

tHEE Ol2|
TH0d| A &

F

5

A&LICH =3 04/ 7t &

H

Al
o

3

L2 E YOI ELICH SQARLT B2 HFLIZ0IME St M co-work
=

H
olo
A& R

[



